BAJIIZE [t

BATRIIIE 15

rES

25

3B E~ 8o
NEE~168=

198 = ~248 %

FRL 8EE

SFav o) —hE

P& %

4REET

TLAR—8—

=L

fE1 R L)

3LDK

75. 66m

NERE LT
BRE 5 & B | XH#
F=s(F) = (81ih) S0 | b3k
M=E6(E) | B (6hh) 70X | ¥R
FE=E6(R) | 70—y (6) | 20X [{EER
LDK 7015 20X |{EHEiR

Al
3pE
2%
16

REEEE (LAREE=FSED)

(A

¢
\

ERrEN (BE8 s REamd R |

(HEESREFHILREE)

EEEE

EH3#8 30A

#iT (FIEAR)

| oy

S E
A
A |AkEE=R

') —2 %0 (A

T T T

BIEIE |[HY

U8 | FvAL

FBIE |8 AR

ih bR X -BS R
CS: & A xf i

ey 20x210 x1
-5 20%x1,10 %3
-FIESME 20x210 %1
-FiEehs 20 x2
GEE6M 20 x3

TV U< H

.....

N

Dt
SHERE Y (1BEIZEES)

3

134

85 =
6EE

158=
138=

4%3

ME=E

165=

238=E

UEE

1452

21 5=

128 =

1985 =

228 %

20%_$

%
ADO

[
154
%

A

u|

ST DR
=Bk #92.0km
\EBNRE #90.45km

- A3 = /iR $490.96km

- AT R =R #91.5km

BREERERE  £95.0km

A UR—L #90.93km
(¥=ryh)




